
1) Decrease 50 by 98%

Answer: ____________

2) What would you multiply by to 
decrease an amount by 9%?

Answer: ____________

3) Decrease 35 by 60%

Answer: ____________

4) Increase 50 by 50%

Answer: ____________

5) Decrease 20 by 95%

Answer: ____________

6) Increase 52 by 75%

Answer: ____________

7) Decrease 48 by 75%

Answer: ____________

8) What would you multiply by to 
decrease an amount by 83%?

Answer: ____________

9) Decrease 35 by 80%

Answer: ____________

10) Decrease 52 by 25%

Answer: ____________

Total: ___ / 10
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Answers:

1) 1 2) 0.91 3) 14 4) 75 5) 1 6) 91 7) 12

8) 0.17 9) 7 10) 39
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